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QUESTION 1

An organization wants to deploy a CMP solution in a private cloud. What requirements influence the sizing of the
underlying cloud management infrastructure? 

A. Size of the service portal and catalog 

B. CMP version and functions it provides 

C. Type of services and cost of each service 

D. High availability and performance 

Correct Answer: A 

 

QUESTION 2

Which authentication and authorization feature is critical for service providers when supporting multi-tenancy? 

A. Integration with external authentication services 

B. Integration with external directory services 

C. Portal authentication services 

D. Single sign-on capability 

Correct Answer: A 

 

QUESTION 3

A company plans to invest $315,000 to cover hardware, software, and deployment expenses. They expect to save
$35,000 per month. They are using a decommissioning cost of $35,000 for the old equipment. After how many months
will the company reach the break-even point? 

A. 7 

B. 8 

C. 9 

D. 10 

Correct Answer: B 

 

QUESTION 4

A cloud architect is designing a packaged PaaS Solution for an organization. One of the primary concerns of the
organization is application portability. What consideration focuses on portability? 
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A. A technology must be chosen that enables portable PaaS architectures 

B. Monitoring at the application level must capture and evaluate key metrics 

C. A subscription-by-time cost model must be chosen to manage costs 

D. A secure connector must be chosen to ensure secure API access to data 

Correct Answer: D 

 

QUESTION 5

SPECIAL INSTRUCTIONS REMINDER 

The remaining questions are associated with two cases. Each case has an introductory, descriptive passage (case text)
that describes background information and requirements for a specific cloud based design. And each case has a set of 

six related, randomized questions. You will need to read the case text in order to answer the related questions
correctly. 

Given that there are two cases with six scored questions each, the total number of case-based scored questions is 12. 

When you display each questions you can easily review the related case text in a pop-up window by clicking on the
"Case" icon (shown below) 

Case 4 

Refer to the exhibit. 

Latest DES-2T13 Dumps | DES-2T13 VCE Dumps | DES-2T13 Braindumps                                3 / 4

https://www.leads4pass.com/des-2t13.html
https://www.leads4pass.com/des-2t13.html
https://www.leads4pass.com/des-2t13.html


https://www.leads4pass.com/des-2t13.html
2024 Latest leads4pass DES-2T13 PDF and VCE dumps Download

Your company is currently using a traditional SAN storage network. The server infrastructure is partially virtualized.
There is a public cloud in place that is used to test development and application migration to cloud. 

Business requirements: 

Consolidate the network, storage, and compute resources Simplify network management and storage provisioning
Maintain application performance 

Need to share resources to reduce cost and improve efficiency Other considerations: 

Monitoring of protection SLAs 

All transactions must be logged for auditing review 

Users are validated using internal credentials 

Refer to Case 4. 

You are designing the network components for a Do-It-Yourself private cloud solution. You want to restrict domain
events and minimize traffic disruptions between nodes. 

Which compute to storage connectivity solution provides this function? 

A. VSAN 

B. FC SAN 

C. VLAN 

D. VXLAN 

Correct Answer: D 
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